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1. = T U F & A ¥ afR SNt el A @ Wi Ue W B 8
This question paper contains two parts and you have to answer all questions in both the
parts.
2. o R A e & R e 20 W &1 WE W0 1 W 10 a@ & < 3 why v, 11 W 20 w4 D

[4)]

&= o of Ue UE 21 @ 20 @ uel @ dimeie wfd e €1

Part “A” Mathematice hae three sections containing 30 questions. Q. Nos 1 to 10 carry 2
marks each, Q. Nos 11 to 20 carry 3 marks each and Q. Nos 21 to 30 carry 5 marks
=% = W SEaaEl 3 $a oF WE £ e 1 UE 2 B 1515 3w € ud ge 5 3R 8 © 55 3@
o= w5 T % 010 37 £1 39 AN © IR o R F g g e W # € frg wad €

B ge Ability Test contains 10 questions. Q. Nos 1 and 2 carry 15 marks
ezch and Q. Nos 5 and 8 carry 5 marks each. The remaining questions carry 10 marks
each. In this part you can write your answers in any one of the chosen language only.

Darr 27 | armmm
Farn - = nip

2T AT SR S /e wE § g ford e 9 o
Write your answer in Blue/Black ink only. Do not use pencil.

% B & T e WO e
All Rough Work is to be done at space provided.
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There are total 29 pages in the question paper.




PART-A MATHEMATICS
SECTICON -1
(Each question carries two marks)
Ql. 7,9,54% ¥ {2 2 sl & TRIGRT FX 5T 6 3ip] &1 e BIE T AGH I
RECEE I
Form the smallest and greatest 6-digit numerals by repeating any 2 digits from
7,9,54.

Q2. 7921 %1 T -7 T BN |
Find the square root of 7921. ‘ S~

Q3. 3R U@ STEH TS B BT 32 A F W1 B% weben 8, O 24 S S B B e
et # g e |

If a man can do a work in 32 days, in how many days will 24 men complete the
sdame work?
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Q4. 3R Houd 400 ®9, &% 3.65% a1t 9 wHg 150 T 8, |6 AR e §0d

DI | ;
Find the simple interest, if P =400, R = 3.65 % per annum and time = 150 days.

Q.5. 48540 3R 23467 BT AP NHcdd BRI § FRT DY 3N I F@IBT & 36 Br
TR |
Round 48,540 and 23,467 1o the nearest 1000 and find the difference.

Q.6. 804.291 f&ur. & SHUM # fod |
Express 804.291 kg as decagrams.

Q.7. 98 A9 e T WX G {6 12 3R 20 9§ oiwn | i & @ |

Find the smallest number which when divided by 12 and 20 leaves no remainder.



Q:8. wErRh s B waurd) 2 lmaﬁmqsaﬂé1dézﬁs/emﬁaﬁvﬁm1ﬁé
® 3/4 9T R P oy B séﬁﬁﬁﬁqmﬁmﬁwmﬁél

Sonali and Priya are classmates. Sonali com

pleted her homework in 5/6 of an
hour and Priya in % of an hour. Who was faster?

Q9 et pt el o s
10 4 5

: ; 3 3 2
Simplify 6—-2- _ 12
iy [0 4 5

Q.1O.W%@jﬁ%ﬁﬁwgo“zﬁ%sﬁqﬁmaﬁﬁwﬁw@@?ﬂﬁwé | 99 <
DIV BT A e |

Two angles of a quadrilateral are each 90° and remaining two angles are such
that one is 3 times the other. Find these two angles.



SECTION —lI
(Each questicn carries three marks)

Q11. 3rgura sa & : 90 HoHlo g 1.5 o 3 |

Find the ratio of 90 cm to 1.5 m.

Q=2 E,%aﬁv%aﬁmﬁ‘é’rmﬁ%@ |

3
7 G .
Arrange the following in descending order: =

Q13. o Wil arafie erea § gds e # oefbal o e o fF ang ¥ 39
The number of girl students in each class of a co-educational middle school is
depicted by the pictograph :
Classes  Number of sirl studants % % - 4Girls
TR PR =
5 B e S D S Y
L ¥E Yt gl gy |
e . . A i L Ree ey
Y Y2yt yxy
Ot X ¥ty
* vI O L ¢ 0

Vil -t ¥t i
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Observe this pictograph and answer the following questions:

(a) T e 9§ asfadl @ e aifima g 2

(a)  Which class has the maximum number of girl students? ............ e M

(b) @ e V ¥ rsfpal &) wer wen I o9 8 ?
(b) Is the number of girls in Class V less than the number of girls in Class ill?

--------------------------

(c) e VII ¥ foa- asfei & 2
(c) How many girls are there in Class V11?7

........................

Q14. feisr U Hiw! Y FelTdr 2 3R 6 g9t F 51 HU P! daar & | 3R I8 R o
@ [ &1 dF—2IS 4FT 81 O U6 o7 § 99 U S0l & $ul B G Shd B

Akhilesh runs a coffee shop and sells 51 cups of coffee in 6 hours. If this is three-
fourths of the total number of cups he sells in the whole day, find out the number of
cups he sells in a day.

Q.15 4§—{3l+(2.l_1l)} :
8§ 3 2 4 NG |
: : 6 1 ] 1
4 —f3_ SR (B
Simplify - { 3+7(32 4)}

Q.16. 9ew 9 H&T ST BN O 149 3N 101 BT 9N B W 5 Y 99 |

Find the greatest number which divides 149 and 101 leaving remainder 5 in each
case.
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Q.17. 4w Riga © 10,000 /— TTFER §9d @Al 3 3% i el & ¥ 9 Ol Pral ©
| S5 A1 MBI @ ofg H fha iy wrwt Bt |

Mrs Singhal deposited Rs 10,000/- in a Post Office Saving Bank at an interest of
3% per annum. How much amount will she receive at the end of 4" month.

Q.18.37fT e o< TS 8 T § IR Yde B el 9ey fead & 9 te 9aiE ¥ I8
TS o It Ibe Fonrtl |

Suppose your watch gains 4 seconds every 8 hours. How many seconds will it
gain in a week.

Q.19.v% B ¥ar & U9 2,00,000 G4 8 | U Ul H 176 W9 AT O & 908y ¥ 94
faw Ufcal & o SR 9 foha 99 39 9T |
A fruit seller had 2,00,000 apples. He packed them in boxes. Each box contains
176 apples. How many boxes were used and how many apples were left over?

Q20. 60 T 80 T ST I THT AfMTNIg Wl &1 3iEa |9 e |

Find the average of ail prime numbers between 60 and 80.
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SECTION —ljj
(Each question carries five marks)

Q21. ahsﬁrofﬁ@gaﬁu%mmﬁwfﬁmﬁmaﬁﬁﬁ@ﬁmm% |
IR T W?EE‘&TE!%‘IGITO.S o STHTWWWEWH\?%‘Q@W
SISl B wvegy =d BTG |

Bob wants to cover the floor.of g room 3 m wide and 4 m long by Squared tiles. |f

€ach square tie js Of side 0.5 m, then find the Number of tijes réquired to cover the
floor of the room.

Q22. M=o Bt & 9 forg

Name the types of following triangles:

@ 7cm, 8cm3ﬂ?9cmwm3ﬁ%i§a |
Triangle with lengths of sides 7cm,8cmang 9 O O A W e

(b) AABC ﬁmﬁAB=8.7cm,AC=7cmGﬁ?BC=6cm.
A ABC with AB=87 ¢m, AC = 7 cm ang SESCom s e e

(c) APQR ‘\ﬁﬁPQ:QR=PR=5 cm. ~
APQR such that PQ BT e

(d) msD=9g° 5 Wer ADEF
ADEF with mzD= e e e i e e R

(e) AXYZmzsy= 90° and Xy = YZ % arr AXY7Z,
AXYZ with MLY= 90° and XY = YE R IR e s o
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Q23. 4 3! 3 AIW DS HW@ ST Y O 12, 18, 21 2N 28 I fAMIRg PR W B
3wl H 339 g9 |

Find the smallest 4 digit number such that when it is divided by 12, 18, 21 and
28, it leaves remainder 3 in each case.

Q24. 171 m o TR 229 m o gor B R B 3 R e e, A 7 45
km/h & a7 | 9eT @& 8 |

How much time will a 171 m long train take to cross 229 m long bridge, if it is
running at a speed of 45 km/h?

Q25. 4000%@%@A,B,Cﬁm§%mﬁwﬁﬁﬁ%mﬁw5:7:8?3
Ut # €

Divide rupees 4000 among A, B, C so that their shares may be in the ratio
(38) ik

Q.26.t% o9 &1 U5 o 3 AR @ 8 R TP T B 9T § R s
15 HEHIE X 9 FEHET X 12 WEMRR B | 39 T 9 U H fba 3 ddiier yon
el =9 FHT SIRA? '

Find the number of cubical boxes of cubical side 3 cm which can be
accommodated in a carton of dimension 15cm x 9 cm x 12 cm?

13



Q.27. Rew =it &1 qfef o
Fill in the blanks:-

(®) R WE ¥ dael ———— R B W e 2
(@) Thereareonly................ symbois in Roman numerals.
(@) 8 3@ B W B Hew B g e |
(b) The predecessor of the smallest 8 digit numberis ................
4 : .
T = e =84 CIEEE 2
e (%) =gt @ e e
4 o
C = Ot =84 d F=— :
(c) = (d) Length of a Rectang e
(®) ORI oY I W &
() e is the smallest prime number?

Q.28. va gt s fdar 50 AT A Ve @ 18000 /— F WA 2 | WEE gy @
AT SIG EST {5 <) W @I gt | Aoy e wi a% afe Rear 1200 /— @

N

AT I VT B 9HT ARG B ARy

A crockery dealer ordered for 50 pieces of China tea sets for Rs 18,000/-. When

the goods arrived, he found that two tea sets were damaged. At what price per set

should he seli the remaining tea sets to earn a total profit of Rs 1200/-?

14
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Q.29.ﬁ$ﬁﬂmﬁwmﬁﬁﬁw$—£aﬂﬁ% | M ¥ 5/6 YT B T 9@l &, SO
S IS STET AT @7 ST € o AT @Y 5 % B fhaar 9nT G Y @ R 2

Vina's father baked a rectangular cake. In the evening 5/6 of the cake was left.
Vina ate half of it. What fraction of the cake did Vina eat?

Q.30 =1 HerEl o1 UAGE 2925 ¥ | I §9 WA P AT TGS 195 & Al
HoHoTo T BN | :

(@  The product of two numbers is 2925 If LCM is 195, find HCF?

(@ Ied o fdaea amge o 480075 & WIS & | T TN @ BN GE TGS
BT o 4600.75 U ffred & 19 & 99 <7 § | A WET % @t 135 Rgce aw@e
TRl & Tl SUB! Bl 8 3G BY |

(b) Sohan bought rice at Rs 4800.75 per quintal. Due to a fall in prices he

could sell it at Rs 4600.75 per quintal only. Find his total loss if he has bought
13.5 quintals rice. -
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PART-B : LANGUAGE ABILITY/ 99—
qUTieb / Max Marks: 100

Q1. &0 o vy ) 31 15 arew iRy .

Write 15 sentences on any one of the following topics: (15)

ATl DBl Had Importance of cleanliness
STRIGT or

g gIRT ATH] - : A Journey by Bus

................................................................................................................
.................................................................................................................
................................................................................................................
................................................................................................................
................................................................................................................
................................................................................................................
................................................................................................................
................................................................................................................
................................................................................................................
................................................................................................................
................................................................................................................
................................................................................................................
................................................................................................................
................................................................................................................
................................................................................................................
................................................................................................................
................................................................................................................
................................................................................................................
................................................................................................................
................................................................................................................
................................................................................................................

............................................................................................................

RS IR AT WY AT T R D Wb BT | R 5T B ERT A IR S
S # wifdy vd W @1 WAR B & | it 79 emamer € o) wov o Riftpy |
ST & | Wk 7T 99 <40 & a2 w2l aur s o7 gfiife we w5y
A gfem=R g & | 3198 R RN fER 799 & s & adw B 2, sakn
TS DI gY fIaRT & R e AR 9T 3R R W 5 @) EEARK N CEaN
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SAfR W= BT [IT qAT FAR U T 87 AR |

(®) A9 D SRR B W TR W AT YA gl & ?
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Read the following passage carefully and answer the questions that follow: (15)

The Sahara Desert covers large parts of Africa. The desert is covered with sand
dunes or sand seas. The desert also has several deeply dissected mountains and
mountain ranges along with many volcanic mountains. Most of the rivers and streams
that are found in Sahara are seasonal or intermittent, except the Nile river, which

crosses the desert from its origins in central Africa to empty into Mediterranean.

The central part of the Sahara is very dry, with little vegetation. The northern and
southern reaches of the desert, along with the highlands, have areas of sparse

grasslands and desert shrub, with trees and taller shrubs at places where moisture

collects.
(a) What is the mea.ning of word “seasonal’?
{(b) “The desert is covered by sand dunes or sand seas”. What is the meaning

of sand sea in the paragraph?

{c) “The central part of Sahara is very dry, with little vegetation”. What does it

mean?
(d) Give the meaning of “sparse”.
(e) What is the meaning of vegetation in paragraph?

18
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Q3 rd forg gregi § A Y@ifdd weal BT WANT Hed U 3AUA I 99189 |
(5x2=10)

I &1 g1 9re) F9 /AR BT 99 o7 o | dfd e §@p IR
AR 1 4G BT FAMER AR d 9id § AR 81 3 |
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Make your own sentences using the underlined words in the following paragraph.
(6X2=10)

Do you support a football or hockey team? Perhaps you follow the
success of your national cricket team. You know every game has its own
importance and follows its own discipline. To become a good player of any
game you need to have regular practice of that game. Learning basic skills of
the game is very essential.

(@)

(b)

20
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(c)

(d)

(e)

&g 10w Wt B H & Rraex srefyel arg g (5x2=10)

(®) ol sMed / ufdfe Sedt / el W / Sowm /e /R

S D 3 20 P 5 2 0 S S 30 W 5 e S S 8 P B e S i 2 B

@M =F ;/’a‘,e\'/mma-\?f/w@/wﬂ/a%cr%/s‘m

21



(&) e@er/ o /R8T / XA /8 /Bl |

) S e B B 5 e e B

Form meaningful sentences by rearrariging the words in proper order :-

(@)  crying/ she had/ as/lost her/ Manju was/ pencil

(b)  at that hospitai/ Anil said that/ was a doctor/ his father was

(c)  environmental/ of everybody / protection / is responsibility/ the.

(d)  thef/ knocking/ who! at/ door/ is

(e) early to bed / good habit/ and early to rise/ is a

22



Q5 3M® vsl ® fow e e falgu— (5 x1=5)
(@) S fredl A HRar B |

@) S IRT WHN 9 B |

@M I SH TBHS! BT BT BT © |

(&) S SH W BT MY ST ©

(&) <&l $9R AT UdhE BIpx WefAT oRd ©

Give one word for the following:-

(@) A peréon \3ho carfies ouriuggage Do o
(b) A person who spends money extravagantly ............
(cf"\NWUng one of aherse o0 oo 0 T e

(d)e Happening once in tWo years ........cccccoeveeeeeiveiecneeann.

(e) One who makes wooden furniture

23 ¢



Q.6 el YAl BT ST IE W W BRI— (6 X 2 = 10)

@) < R R —eRammE | @ e
HISTAR)

(@) T g AR W ? (qepet / )

A e 2 1 @/ )

(@) & smua Wi T JAMER Bl & | (et

5 | @@, aiRken, )

Choose the correct word given in the brackets and fill in the blanks :-

(a) Cleanliness is next to (God, Goddess, Gedliness)

(b) My father tells me to daily. (Play, played, playing)

(c) Yesterday, a cyclone a small town near the beach. (hit/ has hit)
(d)y Ilike plue candle the best. (&, an, the)
(e) Thereis eucalyptus tree beside the house. (a, an, the)

Q7 f=faiad el & ar gameR sref # o e (5 X 2 = 10)

Use the éiven word in separate sentences of your own to show the difference in
the meaning of the words of the pair given below:-

(a) Early, Yearly /3mf<, 3mey

.........................................................................................................

..........................................................................................................
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Q.8

Q9

(c) Pray, Prey /7, HY

.........................................................................................................

(d) Break, Brake / Uhl, Ydhl

(e) Lose, Loose /3TefT, aifelt

.........................................................................................................

R forg o=t & faam v ford— (5x1=5 Marks) -
Py T e

{ee) - Rl .

QS felindis -

S S uT s NG e,

e e S

Give the antonym (opposite) of the following words:
(@) Risky
(b) Doubtful
(c) Negligent
(d) Deep
(e) Differ

I ford arei &1 FduaR 95a a) ford | (5 X 2 = 10)

(@) S8 & 3T fHar B | (THRIAS aTF )

@) o IREs | faar sl (TEETE e )

25



(m) g e =S e (FBRIHD ara )

(&) W5 T=a 9 WR wear 22 (T ¥ e g2 geren)

(8) o< 9 ARS Wl (RIS ey W)

Change each of the following as directed:-

(a)  The news is too good to be true. (Remove “too”)

(b)  She is your mother. (Change into interrogative) ‘:*
(¢)  Fire destroyed the .town. (Change the} Voice)

(d)  He said, ‘| am very thirsty’ (Change into indirect speech)

(e)  Rajuis not as bad as Gaurav. (Rewrite using comparative form of
“good")

26



Q.10 Imagine your name is Akash and you live at House No. 23, Dr Kalam Road,
Jayanagar, Bangalore. Your sister, Deepika who lives at Shanti Nivas, Linking Road,
Mumbai, has sent you a Rakhi on Rakshbandhan. Write a leiter of thanks to her. (10)

M9 3HE 2 AR fen ufeas Whal & e B & B £ T WE B
o § Ao 8 5 e & fore ureRl &) g fifay |

.................................................................................................................
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